B.Com. Semester VI (Honours) Examination, 2022(CBCS)
Subject: Commerce

Paper: 6.4.1 CH - DSE 4 — International Business

Time: 3 hours Full marks: 60

The figures in the margin indicate full marks
Candidates are required to give their answers in their own words
as far as practicable.
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. Answer any ten (10) questions: 2x10=20

eIGICINLITECERCRERIRE

Define optimum tariff. (TN BFT TR\ 713 1)

Distinguish between fixed and flexible exchange rates. (g 932 AfFIéaa [Ffewm
RE Y =TFT FETN)

What is “terms of trade”? (1T 1S FI?)

State two important objectives of IMF. (IMF a9 ‘?ﬂ\% @ﬁ“[\‘f STy ﬁ% ET)

What is the Regional Economic Integration? (S%feiE Srafeo aFFI 1)

What is SDR? (SDR $1?)

What are the beneficiary effects of free trade? (Y& BIRICIE Vifq'ﬁﬂé'iﬁ’f I 7
Mention two objectives of WTO. (WTO ag 4ft ST SEN FET1)

What is devaluation? (SISl gf‘?)

Why is the offer curve called the reciprocal demand curve? (WHIF THRENP
TP SIRW T3 @A I07 27 (Fa?)

Write the full forms of UNCTAD and OPEC. (UNCTAD 438 OPEC a7 sJef&=iafer
(eTH1)

Mention the type of gains an underdeveloped country can enjoy, by participating in
international trade. (936 Ao (0T ANSHNGF AT AT N I I
TS $(E O SEN FETN)

m) What is meant by quota? ((F161 I I (IRNT?)

n)
0)

2.

What is Kyoto Protocol? (fPETGT AGTHE 3t 7
What is meant by outsourcing? (SIS Fet@ fF (FRT?)

Answer any four (04) questions: 5x4=20
(T (FIET B1Ef6 J0T Sox wIs:



d)

‘Balance of payments always balances’- explain. (‘IS A% (GG TIHNNI I3
PE-[ATFAN)

Tariff and Quota-which one is more effective? Explain. (G5E% a3 (F16T - (F1H6
QT FRFA? T FETN)

Briefly discuss the role of IT in International Business.( S@SIfod HINT A6
T N T 57205 FET)

What is Leontief Paradox? Give two arguments to dispel the paradox. (f*18f%%
TATGCH {2 92 TRNCH 79 FAF =% 36 I w3 1)

Differentiate between international trade and international business. (SN@SOF
BT 93 ARSI T T1AF FET)

Explain the role of the WTO as a regulator of world trade. (g F1feiewa foza< e
WTO AT OfeiT I FE]1)

Answer any two (02) questions: 10x2=20
(T (I ﬁ?lﬁ AT T3 WISs

Show that absolute advantage is necessary but comparative advantage is a sufficient

condition for international trade. (W18 (¥ ARBHGF AfAGY TTH Yﬂ%l'&ﬂ ISR

%, & Qe Y 7Xg TS 1)

Write short notes on (i) EOUs (ii) SAARC (S:f3%g BI%T (?TtT- (i) EOUs (ii) SAARC).
5+5

Compare and contrast the role of the IMF and World Bank as global financial

regulators. What is the significance of outsourcing for modern global business?

(it oI fas RE IMF a3 RISR@E S| ool a3 @SN
DTG FET| AP I3 I AMSEEHR 97 B35 F?)

545
Briefly discuss international initiatives to combat the effects of environmental change
in the context of global business firms. (W%WW&‘ZT@%W GIEIGREI]
AT TR [FFm TOR FIF Ty ARBK6F SIRISIST ST FEEAT
1)




